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If sin  x = y, then

(a) 0 ≤ y ≤ ㅠ (b) (c) 0 < y < π (d) \(-\frac { \pi }{ 2 }
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sin (tan  x), |x| < 1 is equal to
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sin  (1 – x) – 2 sin  x =  , then x is equal to
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 Principal value of sin is
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tan {sin (- )} is equal to
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sec{tan  (- )} is equal to
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If sec  x + sec  y =   the value of cosec x + cosec y is
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Principal value of the expression cos [cos(-680°)] is

(a) (b) - (c) (d) 

-1

2π
9

2π
9

34π
9

π
9

 The domain of the function y = sin (x ) is

(a) [0, 1] (b)  (0, 1) (c)  [-1, 1] (d)  Φ
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The value of tan²(sec 2) + cot2(cosec 3) is
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 If 3 sin x + cos x = π, then x is equal to
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The value of    is given by
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The principal value of tan  1 is given by
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x = ysin−1
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The value of   is
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The value of   is
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If  then x is equal to

(a) 1 (b) (c) (d) None of these
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The domain in which sine function will be one-one, is
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If  , then the value of   is
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The equation   has

(a) no solution (b) unique solution (c) infinite number of solutions (d) two solutions
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The value of   is
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The greatest and least value of $ $ are respectively
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